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VERT.X  TYNGULAR



//PersonRepository sync
public List<Person> findByName(String name);

public BigDecimal getIncome(String name);
//PersonRepository async
public void findByName(String name, Callback<List<Person>> persons);

public void getIncome(String name, Callback<BigDecimal> income);



//ClLient call
repository.findByName("Erwin",
persons -> {
persons.stream().filter(person -> person.getAge() >= 65)
.forEach(person -> {
repository.getIncome(person, income ->
totalIncome = totallIncome.add(income));

1)



//PersonRepository
public Observable<Person> findByName(String name)
public Observable<BigDecimal> getIncome(Person person)

//Client call

repository.findByName("Erwin")
.Tilter(person -> person.getAge() >= 65)
.TlatMap(person -> repository.getIncome(person))
.subscribe(income -> totalIncome = totalIncome.add(income))



filter(person.age -> person.age => 65)

flatMap(person -> repo.getincome(person))



“Vert.x Is a toolkit for creating reactive appli-
cations on the JVM, supporting multiple
development lanqguages simultaneously.”
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1 package io.vertx.starter.helloworld;

2

3 import 1o.vertx.core.AbstractVerticle;

4 import 1o.vertx.core.Vertx;

5

6

7% public class HelloWorldVerticle extends AbstractVerticle{
8

0 @verride

10 « public void start() throws Exception {

11 o vertx.eventBus().consumer("hello—channel”,message —> System.out.println(message.body()));
12

13 vertx.eventBus().send("hello-channel","Hello world!"):
14 s

15

16 = public static void main(String[] args) {

17 Vertx.vertx().deployVerticle(new HelloWorldVerticle());
18 s

19 s

20 |
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public class MyWebSocketHandler implements Handler<ServerWebSocket> {

@Override
public void handle(ServerWebSocket ws) {
ws .writeTextMessage(new JsonObject().put("status”, "connected"”).encode());
ws .textMessageHandler(message -> {
System.out.println(message);
ws.writeTextMessage(new JsonObject().put("message”, "hello world!").encode());

¥)s



